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if if -else switch while
do-while for break continue

/ printf scanf
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C
20
1.
A.void B6 6C. 0 D.unsigned
2. int j i 1 i i++

Al 1 B.1 1 C.2 1 D2
3.

main() {

int a=1,b=0;

printf("%d,",b=a+b);



printf("%d",a=2*b); }

A.0,0 B .10 C.3,2 D.1,2

4 Jint a=1,b=2,c=3;,

A.if(a>b) c=a,a=b,b=c; B.if(a>b){c=a,a=b,b=c;}
C.if(a>b) c=a;a=b;b=c; D.if(a>b){c=a;a=b;b=c;}

5.

A.chara='a'; B.chara=' \n';
C.chara='aa’; D.char a="

6. A ASCII
main() {

char c1,c2;

cl='A'+'8" -'4,

c2='A'+'8' -'5"

printf(*%c,%d \ n",c1,c2); }

A.E,68 B.D,69 C.E.D
7.

main() {

int s=0,a=1,n;

scanf("%d",&n);

do{s+=1; a=a2;}

while(al=n);

printf("%d \n",s); }

.-1 B. -3 C. -5 D.0
sinta[ J[4]; afi][i]

for

for
for

for break
for if
10.
A. continue
B. break switch

COW>O»®p

C. break continue
goto

D.

2 10
1. “ 1,3, 7
2. 10

int main() {

int i,n[5]={0};
for(i=1;i<4;i++){
nil= __ i

printf("%d \n", ¢ );
IS

int a=10;

int max(int a,int b);

printf("%d", o );

}

L J*4+ B.i*4+] C.i*4+j -1 D. i*4+j+1

65



3 fun str

void fun (char str[]) {
char m;int i, j;

for (i=0, j=strlen(str); i< ¥

{
m = str[i];
str[i] = str[j -1];
strj -1]=m;}
printf("%s \n",str);
}

main() {

int a=1,b=7,

do{ b=b/2;a+=b;

} while (b>1);
printf("%d \n",a);
}

2. 123450< >

main() {

ints;

scanf("%d",&s);

while(s>0) {

switch(s) {

case 1:printf("%d ,",s+5);
case 2:printf("%d,",s+4); break;
case 3:printf("%d,",s+3);
default:printf("%d,",s+1);break; }
scanf("%d",&s);

}

}

main() {
char ch[2][5]={ “6937”, “8254”},*p[2];
inti,j,s=0;
for(i=0;i<2;i++)
plil=chli];
for(i=0;i<2;i++)
for(7=0;p[il[j]> \07;j+=2)
s=10*s+p[i][j] -<0’;
printf( N%t&nn, s) ;
}

N
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main() {
inti,j,k,n ,sum=0 ;
for(n=100;n<1000;n++){
i=n/100;
j=n/10 -i*10;
k=n%10;
if(n= =i*i*i+j*j*j+k*k *K )
{pri ntf("floweris=%d \n",n) ;
sum=sum+n;} }
printf("the number is =%d",sum); }

2.

#include<stdio.h>
#include<string.h>
int main(){
void sort(char *[]);
inti;
char *p[10],str[10][10];
for(i=0;i<10;i++)
pli]=str[i];
print(“input 10 strings:\n”);
for(i=0;i<10;i++)
scanf(“%s”,p[i]);
sort(p);
printf(“the sorted strings:\n”);
for(i=0;i<10;i++)
printf(“%s\n”,p[i]);

void sort(char *s[])
{
inti,j;
char *tp;
for(i=0;i<9;i++)
for(j=0;j<9-i;j++)
if(stremp(*(stj), *(s+j+1))>0)
{tp="(st]); *(st])= *(stj+1); *(s+j+1)=tp;}

12
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